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Chi-Square Tests 

 Value df Asymp. Sig. (2-sided) 

Pearson Chi-Square 3,686
a
 2 ,158 

Likelihood Ratio 3,708 2 ,157 

Linear-by-Linear 

Association 
3,413 1 ,065 

N of Valid Cases 87   

a. 1 cells (16,7%) have expected count less than 5. The minimum 

expected count is 4,76 
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Chi-Square Tests 

 Value df Asymp. Sig. (2-sided) 

Pearson Chi-Square 1,012
a
 2 ,603 

Likelihood Ratio 1,013 2 ,603 

Linear-by-Linear 

Association 
,744 1 ,388 

N of Valid Cases 87   

a. 2 cells (33,3%) have expected count less than 5. The minimum 

expected count is 3,10. 
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Chi-Square Tests 

 Value df 

Asymp. Sig. 

(2-sided) 

Exact Sig. 

(2-sided) 

Exact Sig. 

(1-sided) 

Pearson Chi-Square 14,781
a
 1 ,000   

Continuity Correctionb 12,416 1 ,000   

Likelihood Ratio 13,184 1 ,000   

Fisher's Exact Test    ,000 ,000 

Linear-by-Linear 

Association 
14,609 1 ,000   

N of Valid Cases 86     

a. 1 cells (25,0%) have expected count less than 5. The minimum expected 

count is 4,01. 

b. Computed only for a 2x2 table 
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**. Correlation is significant at the 0.01 level (1-tailed).�
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Chi-Square Tests 

 Value df 

Asymp. Sig. 

(2-sided) 

Exact Sig. 

(2-sided) 

Exact Sig. 

(1-sided) 

Pearson Chi-Square 14,384
a
 1 ,000   

Continuity Correctionb 12,295 1 ,000   

Likelihood Ratio 19,981 1 ,000   

Fisher's Exact Test    ,000 ,000 

Linear-by-Linear 

Association 
14,217 1 ,000   

N of Valid Cases 86     

a. 0 cells (0,0%) have expected count less than 5. The minimum expected count 

is 6,63. 

b. Computed only for a 2x2 table 
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**. Correlation is significant at the 0.01 level (1-tailed).�
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Chi-Square Tests 

 Value df 

Asymp. Sig. 

(2-sided) 

Exact Sig. 

(2-sided) 

Exact Sig. 

(1-sided) 

Pearson Chi-Square 7,282
a

 1 ,007   

Continuity Correctionb 5,504 1 ,019   

Likelihood Ratio 6,447 1 ,011   

Fisher's Exact Test    ,013 ,013 

Linear-by-Linear 

Association 
7,198 1 ,007   

N of Valid Cases 87     
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a. 1 cells (25,0%) have expected count less than 5. The minimum expected 

count is 3,17. 

b. Computed only for a 2x2 table 
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**. Correlation is significant at the 0.01 level (1-tailed).�
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Chi-Square Tests 

 Value df 

Asymp. Sig. 

(2-sided) 

Exact Sig. 

(2-sided) 

Exact Sig. 

(1-sided) 

Pearson Chi-Square 14,233
a

 1 ,000   

Continuity Correctionb 11,085 1 ,001   

Likelihood Ratio 10,853 1 ,001   
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Fisher's Exact Test    ,001 ,001 

Linear-by-Linear 

Association 
14,068 1 ,000   

N of Valid Cases 86     

a. 1 cells (25,0%) have expected count less than 5. The minimum expected 

count is 1,74 

b. Computed only for a 2x2 table 
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**. Correlation is significant at the 0.01 level (1-tailed).�
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�B)�	�?��

Chi-Square Tests 

 Value df 

Asymp. Sig. 

(2-sided) 

Exact Sig. 

(2-sided) 

Exact Sig. 

(1-sided) 

Pearson Chi-Square 18,648
a
 1 ,000   
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Continuity Correctionb 16,585 1 ,000   

Likelihood Ratio 22,711 1 ,000   

Fisher's Exact Test    ,000 ,000 

Linear-by-Linear 

Association 
18,433 1 ,000   

N of Valid Cases 87     

a. 0 cells (0,0%) have expected count less than 5. The minimum expected count 

is 9,78. 

b. Computed only for a 2x2 table 
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Correlations 
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Spearman's rho �$�+)��-)����.�����

�0��	��1��	� �

1,000 ,463** 

. ,000 

87 87 

�$�
�C��'���F�"��

.
���	�������#��)2���

��1���	���

,463** 1,000 

,000 . 

87 87 

**. Correlation is significant at the 0.01 level (1-tailed).�
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Chi-Square Tests 

 Value df 

Asymp. Sig. 

(2-sided) 

Exact Sig. 

(2-sided) 

Exact Sig. 

(1-sided) 

Pearson Chi-Square 6,526a 1 ,011   

Continuity Correctionb 4,273 1 ,039   

Likelihood Ratio 4,979 1 ,026   

Fisher's Exact Test    ,029 ,029 
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Linear-by-Linear 

Association 
6,451 1 ,011   

N of Valid Cases 87     

a. 1 cells (25,0%) have expected count less than 5. The minimum expected 

count is 1,38. 

b. Computed only for a 2x2 table 

�
���	����3��)
���'�����2��34��)�5"�������2����	�6	������7�'�8988��

��

�

���������������������"��4�%&�$������=VI�
�
��G�
H���J=!���P*=$�����3

���=!I�������9��-�5������.�,9���6��+������7�/����D&�=��,���D�6&���&��CD�

�+!�%�����;��9�����J=!����96$��3�����9��-�5�����9���6��+������7�/����D&�=��,���

+!�%����R�9QS��D�6&����

��������9��-�,����,�9O��*=,�������7�/����D&�=��,����3+!�%����R�9QS��D�6&��.�6$

����=�9/�O�9�=A�����,��F�/&9GWXYZ[\Z]^_�[`aH���

��

��
�����	��K<�'��
����6���
2�������>��� �
�����
�*/����� ��!E�
	.���	�

!:�B�	��&��CD�?��

Correlations 
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��1�
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�
��'����N��	��1
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Spearman's rho �$�F������
��N�	��

5"��
��6��F��
��1�

1,000 ,274** 

. ,005 

87 87 

�)��F46���$�5;
��
,274** 1,000 

,005 . 
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1
C���	��
1,000 ,274** 

**. Correlation is significant at the 0.01 level (1-tailed). 
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